Subject: Female Genital Cutting -- Burkina Faso
Posted by novak352 on Wed, 27 Jul 2016 14:54:55 GMT

View Forum Message <> Reply to Message

Hello,

| am a user of the Burkina Faso 2003 and 2010 datasets. | am researching female genital cutting.
| would like to use the respondent's report of whether her daughters have undergone FGC. | have
a few questions about the 2010 and 2003 datasets.

2010 Dataset:

In the 2010 data, the variables g121 01, g121 02, etc... report whether the respondent's
daughter(s) underwent FGC. | would assume that g121 01 would correspond to b4_01 (child's
gender) and b8_01 (child's age). However, it seems that in some instances, g121 01 equals 'yes'
indicating that the child has undergone FGC, while b4_01 suggests that the child is male.

Could anyone help me sort through this? Is it possible that g121 01 does not necessarily
correspond to the first child listed in the b4 variables, but it does correspond to the first female
child listed in the b4 variables? And similarly g121 02 corresponds to the second female child
listed in the b4 variables, g121 03 corresponds to the third female child listed in b4, etc? If that is
true, | can match responses between g121 and the b4 variables.

Alternatively, is it instead the case that g121 01 could correspond to the second or third female
child listed in the b4 variables, such that the listing of g121 01 is somewhat random? This would
make it impossible to match responses.

2003 Dataset:

This dataset is set up differently than the 2010 dataset. In this dataset, fg111 is the variable that
gives the line number of the last circumcised daughter. | am not sure how to match this line
number with child variables in the data. There are cases in which fg111 equals 5, for example,
such that the last daughter circumcised is line number 5, however b4_05 (child gender) is equal to
male.

| have never used the line number to match household members, and | am unfamiliar with how to
do so. Do you have information that would walk me through this?

Thank you in advance for your help.

Subject: Re: Female Genital Cutting -- Burkina Faso
Posted by Liz-DHS on Tue, 02 Aug 2016 18:56:09 GMT

View Forum Message <> Reply to Message

Dear User,

A response from Dr. Tom Pullum:

Quote:

The g variables in the IR file include gidx_01, gidx_02, etc. These indices provide a link to bidx in
the KR and the BR files. For example, if gidx_01 is 3, then the daughter given by g121 01 is the
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child with bidx=3. There have been some other posts on this topic, including another one today
about FGC in Egypt, that you may want to check.
http:// userforum.dhsprogram.com/index.php?t=msg&th=5407&got 0=10525&#msg_10525
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